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1T - I (PART - )

[A]

T O 7 R (CHILD DEVELOPMENT AND PEDAGOGY)
ﬁ?@r:@’?ﬂ%ﬁm#%mﬁ # fv gad T Re g

Direction : Answer the following questions by selecting the most appropriate option. -
——7Cr (he following

1 Pl & 3 Bqw @
ﬁi‘sﬁﬁﬁﬁwaﬁqﬁq?ﬁr#m
TAT T ¥ ?
D P& Bl =i @ G}
Wﬁﬁﬁﬁ%ﬁﬁmmm‘%%l
(2) M o™ Rer & a=fm 3
9T it wrar 37 3

Q) M 3w o 3 w2
;ﬂ#ﬁaﬁﬁﬁﬁ?ﬁfqﬁm
| .
(@ﬁﬁﬁﬁﬂﬁaﬁﬁﬁmmﬁ
G T HA T Fergqr T
2 T WX W R Rt owe
T FHEardl & 7 :
(1) Tads Riga
L(2) YRS Rige
(3) GuIF R
(4) TS fiaw
3. Felefed & @ Fw T
ST P Rdwanel & awed ¥ 757
FTE?
(1) G el & o Ay ¥
(2) HEET S Bt ¥
(3) T4 % |y AT [ 98 St
g N F oo Refy off geq 3

g

(4) SR Iad F qEae T8 At
Hifs T U FE qfss oy
el Bt B

Level-2/201

1.

L

P

Out of the following which one is

the wrong statement in context of

characteristics and nature of guidance ?

(1) Guidance is assisting the
individual'to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

Guidance.
(3) Guidance is helping the
individual ~ himself through

others efforts only.
(4) Guidance is assisting an
individual to find his place.

A type of thinking in which one's
interpret sensation with experience is
known as what ?

(1) Reflective thinking

(2) Perceptual thinking

(3) Creative thinking

(4) Critical thinking

Out of the following which one of
the statement is wrong in context of
characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage of time and they may

~even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual
comprehension.

P.T.O.
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e fFeR @ & “afed R
3 st waferat & @ & 2

(1) "3 B (2) ST

(3) dATeA (4) B
Frfafea & & #F-a1 oo & dedt
¥ o wRE?

(2) e T orgatyRg aa ¥

(3) omPws fawr, wygadl R @

Wﬁmﬁq’?&"?@ﬁ%l
(4) fa=ra qﬁ'%qam e @
|
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[4)

4

e

|

Which is the oldest method for the
study of behaviour 7

(1) Experimental method

(2) Clinical method

(3) Psycho-physical method

(4) Introspection method

Out of the following which on¢ is
wrong characteristic of Delinquents ?
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing _

(4) Aesthanic in constitution

Which one of the following is the
correct logical order of observational
learning process according Learning

Theory of Bandura ?

(1) Attentional — Retentional —»
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Auentional — Retentional —
Production — Motivational

Who stated that "Personality is _the
sum total of innate and acquired

dispositions” ?
(1) Mortin Prince
(3) Valentine

Which one of the following is false

statement in context of Development ?

(1) Development involves change.

(2) The development pattern is
unpredictable.

(3) Early development is more
critical than later development.

(4) Development is the product of
maturation and learning.

(2) Allport
(4) Cattell
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(5) (R)
% mmﬁm W { ooy e 9. Girls Surpass boys physically in :
(1) &mamen 3§ (1) Infancy
(2) SUT S i (2) Later childhood
(3) T Fearern & (3) Early childhgod
(4) ReRraen §

(4) Adolescence

10. Out of the following which one is

g7 the subject matter for study of
' Gestalt Psychologist ?

(1) ST wfdramd (1) Cognitive processes
(2} a_d-;ﬂ '[2} CGHSCiGusness -
(3) 'ﬂ"ﬂ'\“fﬁﬁq 8 T oiv argehE (3) Mental  and  behavioural
BIETIY processes a wholes
(4) RaE & T8 o Foed (4) Modes and problems of
existence
11. wefReat 3 g o & wme 3 11. What did Freud consider the paternal
Rred e R & 2 love of girls ?
(1) 9T 9= oy (1) Oedipus complex
(2) soaeT WEAT AR (2) Electra complex
(3) WU HTET (3) Narcissisn:n
(4) Treiem &t wraen (4) Feeling of dependence
l2. FH-FH smeet A $ a9 12. Sometimes the children of gifted
HYA Are-Rar @t g 7 g B parents are born with less intelligence
Y 5 dd & orgar THF S Ieer than their parents or vice versa,
gl 8, 9% duTgH H de-a fraw which Law of Heredity is called ?

(1) Law of Regression
(2) Law of Selective Traits

(2) =t o # R (3) Law of Maternal and Paternal
(3) a7 9 R vt @ faw Lines

5] 4T & foam (4) Law of Chance
Level-2/201 | 3 P.T.O,
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Frfof & 8 @ o
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(1) Ta4arEl 3R Ay
(E}Mm@qﬁm
(3) TR & T R 71 s
(4) 397 foamy )

“Fi'a-‘T i s
g5 oo Sk e
e g —

(.EJQﬁﬁﬂﬁf W
ﬂTﬂﬁ?ﬁm;E}faa Ny -

NS Ry -

(@) TR — 7R Rl o
S IRUEC R E

F Rl 78 ¥ 2

(1) SR

(2) FEF G § A
(3) HRA Ta

ﬁ'ﬁﬁff@ﬁﬁﬁﬁq-ﬁrm};m
Eﬁ s M o amfeT
§ ufqaiza 787 6 & ?

(1) GwTar STwitaar
(2) §9F g8 i @
(3) &™

(4) Gaheqar fHHior
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[6]

Which of .the following is the

characteristic of introverted thinking

type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectua)
pursuil -

(3) Supports theory with facts

(4) Propagates his views
insistence and vehemence

with

Out of the following which is correct
sequence given by James Lange's

“"Theory of Emotions" 7

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state —
Bodily expressions

(3) Situation —>» Baodily expressions
—» Mental state

(4) Situation —> Mental state —
Bodily disturbance

Out of the following which one is
not the characteristic of insight 7
(1) Incidental

(2) Response in novel situation

(3) Habit strength

(4) Response spontaneity

Out of the following which one
is nmot the stage of creativity
prescribed by Gordon in  his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar

(3) Deferment

(4) Concept formation



18, FUHY TaEN F Y R F@w O

21.

g7

(1) 10 ¥ 12 of
(2) 6" 12 a9
(3) 11 9 16 T¢
(4) 8 § 10 af

(1) 67 8ad
(2) 89 10 a4
(3) 7@ 9a¢
4) 119 1435

e fpeq @er o1 & ‘uw @k 39

o # g @ ¢ R @e
I ®Y A e @ amar @ 87 7

(1) &4 (2)
(3) afeeH (4) HeAa

Level-2/201

a2 T

[R]

Qut of the following which onc

characteristic yror suits 1o gifted

children 2

(1) Learn rapidly and casily.

(2) Perform difficult mental task.

(3) Knows about many things of
which most of the students arc
unaware,

(4) Much drill is required to retain
what he/she has heard or read.
What is the age range of puberty

stage 7

(1) 10 to 12 years
(2) 6 to 12 years
(3) 11 to 16 years
(4) 8 to 10 years

Out of the following which one is
not the type of performance test of
intelligence ?

(1) Army alpha test

(2) Koh's block design test

(3) The cube construction test

(4) The pass along test

According to Jean Piaget between
which ‘age the child develops
abstract reasoning ?

(1) 6to 8 years

(2) Bto 10 years

(3) 7to 9 years

(4) 11 to 14 years

Who stated that "An individual is
intelligent in proportion as he is able
lo carry on abstract thinking" ?
(1) Terman (2) Dearborn
(3) Buckingham (4) Calvin *
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gl 3 WX ,
afeat H am Hﬁﬁ:;
T FEd & 7

(1) qiafes Rewa

(2) | s
(3) wifE e

(4) qiAfEE amed

ﬁ""ﬁﬁ; ?ﬁ;ﬁf w TR
ﬁrqanga%?%? H@E?{Rﬁfﬁ

¢ W& HE
(2) Renffat & 95 3 aww 3

e
uisear

(3) §9 T §HEH
(4) o A farer-famst

Aot w@d q=T qderr

Freff % 7 T
I 12
3) 30

(2) 10
(4) 31

25. s T B far & &9 F 5

1
(1) gﬂt’ﬁﬂ&]ﬁg‘@:ﬁ
(2) UwritSil

- (3) wie

(4) HidR

26. TRAMRRS dwiis & AR fHad

fepar &1 ?

(1) Fo Eo TISTEA
(2) Sfo Tao HARA
(3) 3o dlo T
(4) Sfo THo HHIX

Level-2/201

22.

23.

What is the process of relcasing the
hidden emotional suffocation and
powers inside the children called ?

(1) Emotional stability
(2) Emotional sensitivity
(3) Emotional catharsis
(4) Emotional competency

following which one

QOut of the
suitable for satisfying

activity is nof
the instincts curiosity ?

(1) Awarding positions in the class

or school

(2) Answering the questions of the

students
(3) Problem solving

(4) Discussion in class

cards prescribed in

How many

Rorschach Ink Block Test ?

(1) 12 (2) 10

(3) 30 (4) 31

Who is known as father of

Educational Psychology ?
(1T E. L. Thorndike

(2) Pestalozzi

(3) Herbart

(4) Froebel

Who invented sociometric technique ?

(1) J. E. Anderson
(2) J. L. Moreno

(3) E. B. Hurlock
(4) G.S. Marmor
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ST Bk ?

(F) FET 999 st

(2) WEEH T v iy
(3) uftem B 9w deey
(4) ST T Ry

fre =t el

TV 3 ogaR Rem & -8

e B e wRusgay aen @
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(1) SrgramEen

(2) STeaTEe

_(3) Fpsiruaen

(4) Srerae
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ERin]

I8 F & & Fww T8 Wm
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1) TETHEHTT

(2) T&YT

(3) aMferea

(4) fereamas

Frefaied & 8 $F-81 aogEsn &

= 9199 R 78 & 7

[A]

2L, Which is the fourth stage of psycho-

social development of an individual
according to Erikson ?

(1) Intimacy v/s isolation

(2) Identity v/s role confusion

(3) Industry v/s inferiority

(4) Generativity y/s stagnation

According to 'Ross'. which stage of

development is known as 'Pseudo
Maturity' stage 2

(1) Infancy

(2) Childhood
(3) Adolescence
(4) Adulthood

29. When a person tried to make his/her

thoughts and action according 1o
other whom he like to follow, then
this kind of activity called which
type of defence mechanism ?

(1) Identification

(2) Projeétion

(3) Rationalisation

(4) Displacement

Which one of the following is not

the common speech disorder
childhood ?

of

(1) o1l & FHl (1) Depletion of Energy
(2) e (2) Lisping

(3) FAEE I (3) Slurring

(4) BHaT (4) Stuttering

Level-2/201

P. %0,
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A1 - 11 (PART - IT)
o (R o $#5f) [ LANGUAGES (HINDI & ENGLISH) ]

f&=il (HINDI)

P : et 27 3wt 39 3 fog et afe e G

3. fFR  WEaeE  ww o Fofor
RIS H /oy ¥ 7

(1) gy =7 B 3

(2) A g el & F
(3) & T & Fw SrandE B
(4) TR AT FH A% FH

g ® ?
(1) g2am -
(2Jﬁmadda
(3) faia -
(4) HEIS -

3. wE-fe A o § f-w R
T ?

A1) TEHT - BYT A = A FE
(2) o7 - 4" § 5 @ g
(3) FwlEa - 39 & =z Wi

(4) ugEld - 99 & foro afd

Level-2/201

35, fre ¥ § P 9= Y I
faffe 72 & 7
(1) araricEs .
(3) oTfem (4) I

36, P ¥ ¥ fra fAE W OFE Tom
g ?
(1) ‘T & Feare @ gt
(2) feet e @t O AR O
© & S B
3) g o @@ # wd @W A

AT B

(4) 'z o @ Sfera avf FEa

37. B Rmam 3 it 9= fRew § 7
(1) @reErE, JeE, g9e
(2) Frinw, s, FeE

(3) HHfHA, ST, YA
(4) FremT, &, Bl

(2) e

38, THtEErEl w=t F @ A oy e

g
(1) s - aren, o, arf
(2) 3EHR - 29, 30, 92
{3;%4&?,14{@,;[:“
(4) Fra - Brash, wggm, afedg
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warT g ¥ 7 mﬂ
(M) & Fh F01 8 qeeey,

A2) T 9N IR F T AN AR
(3) B H AT T

(4) RAw s M R

‘R B T O w4 @@
B ¥ I Y N wem e
gie :

(1) 30 B RS F "o

(2) U AR A=A

(3) =R R & = e sd 1

(4) 9 & I el B am

(1) T=rl g&i% 95 e a8 By
(2) H AT FE FT W@

(3) RrEe i TFjpEa TSRt
(4) R A 75 YR o

T R R

(Al
ﬂﬁ%mﬂmﬂgﬂﬂiﬁ".

(1) Rrardt wew qv foeem @ A -
- oS
(2) T 9m gy frad B -
. Fee M|
3) TR & A g wr B -
e e D
(4) 98 Faue™ ¥ ot @FET AT -
qeepifers R
4. T %0 3 wiu-frede ogfm ® ?
(1) afeXw = af: + o
(2) andid=m = andf: + ==
(3) T =/ + @

(4) Tugerat = a0 + = _
5. 1 % } 50 gerel @ o @@ 7@
T ]

(1) ¥&a 9T Z&aT A -

FOA TG oA
(2) S 98 BN - g9 & S

2. fam = @ 3fc ¥ ogRm gw (3) R = T U A% ST -
B oA T FHEAT
B - % (4) oll & FE A - T g A
(2) g - FsEfE
(3) forqa - wfera
(4)]:”3_{_;% —
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[A]
3ol (ENGLISH) .
.Direlcﬂan : Answer m% otaboy sele Cﬂwt appropriateoption.
46. Choose the correct option (o fill in 49, Select the correct option (Phrasa|
tetulaalc: Verb) for the underlined word : |
This pen is both good ... cheap. She rejected his request 10 take her
(1) as well as home.
(2) as well (1) turned up
d down
(3) but only (2) turned do
2 and (3) turned out
an
¢ (4) turned off
41. Seclect the appropriate preposition to 50. Select the appropriate modal to fi]]
fill in the blank : = el
His hut LS hOtEI Tﬂ-] Trespassers ........... be pl'niShﬂd,
(1) above (legal notice)
(2) out (1) shall (2) may
| (3) besides (3) should (4) oughtto
(4) beside 51. Choose the ﬂpproprfﬂfi’ preposition
to fill in the blank :
48. Choose the SPRRCEFTEnEETS " What is the tinc your
underlined words : ' — = ’
The law and ‘order situation will'only t - &3
become worse in the state due to the (1) m (2} from
riots, if the government does not do (3) by (4) on
zomethmg right now to nip it in the s2. Select the correct option (Phrasal
bud. Verb) for the blank left in the
(1) To plan in detail to stop a threat sentence
(2) To destroy the problem in the Cholera has . ... in this village,
initial stage only (1) broken oul
(3) To arrest the culprits (2) broken down
. (3) broke
(4) To stop something harmful in ), PRONEN P
(4) broken ofl

the initial stage

Level-2/201




53. Choose the

[13]

ol Part of the sentence
which is incorrect -

e r;si ent made
(a)
Rakesh a M. P. candidate
(b) (c)
(d)
(1) a (2) b
(3] (4) d

Choose the part of the sentence
which is incorrect -

He did not  keep his words
(a) (b)
topick himup  from WTPp,
(c) (d)
(1) b (2) ¢
(3) d (4) a

Choose the correct tense forh to_fill
in the following :

I had consulted my_lawyer before |
c+veeeene the complaint,

(1) did lodged
(3) lodge

(2) had lodged
(4) lodged

Choose the appropriate modal 1o fill
in the blank :

He listen to the stories of
his Grand Ma before he slept.

(Past habit)
(2) shall
(4) might

(1) could
(3) would

Level-2/201

517, Choose the correct

T T R T S ——

[& 1
; meaning of the
underlined words .

The  hostess
introducin
other,

broke the ice by.
g the strangers to each

(1) To make people relax with each

58.

59.

60.

other

(2) To make people perplexed with
cach other '

(3) To serve welcgme _drink to the
Zuests

(4) To start a game of puzzle

Choose the correct tense form to fill
in the blank ;

Municipality has decided to ............
the overhead wires.

(1) did away with

(2) do away with

(3) has done away with

(4) had done away with

Choose the correct option for the
following :

One who wastes a lot of money 1s :
(1) frugal (2) recluse

(3) prodigal (4) reticent

Select the appropriate modal for the
cxpression given :

Harish has annoyed his boss today.
He ........ be fired soon. (probability)

(1) may (2) can

(3) oughtto

(4) would



[A]

[14]
91T - I (PART - 1)
i MR a7eqge (GENERAL STUDIES)
RUEEIAC L e — Hmlﬂ(; i o (QUANTITATIVE APTITUDR,
REASONING ABILITY AND G.K. & BWARENESS)
it < P R 3 7z 23 3 fory e oy 5 970

Direction : Answer the fo]]

——ﬂjﬂsﬁom by selecling the mos

ﬂﬁmﬂmﬁﬁmﬁ%’aﬁ

ﬁﬁﬂmwmm}lu
A
(1) 1000 {2} 50 : :
(3) 500 (4) 5000

62. 140 e =h W o e
ﬁnﬁarﬁfga %,;gzﬁﬁﬁaﬁ
e qy
TN 7 A R
(1) 18¥F°8 (2 24 Fave
(3) 307F"s  (4)/32 s
1lwm%mﬁ'%w‘
NS F AT B A ImH @
(1) 11% (2712204
(3) Sﬂufﬂ (_U 4{_}'%

84. IR 4 XY A 6 HARAT s T T 7
g gfefed e wed 12 At & =7
T E @ S wd ¥ g aw e
10 369 71 3 Afeamt 8 wwd uffw
Fd w0 B R § o @ 7
t3) 8 (4) 9

3. IR x-= I L?= 2 @ X 3
EETIHT—I% W L
{1) 0 (2) 1
(3) 4 (4) 2 '

Level-2/201

g1, The length of a wire is 66 m

t appropriate option.

then the number of circles
circumference l.32_cm that can B
made from the wire 1s :

(1) 1000 (2) 50

(3) 500 (4) 5000

A train 140 metre long is running g
60 km/hour. How much time wil| j;
take to pass a platform 260 meyr,
long ?

(1) 18 sec
(3)- 30 sec

(2) 24 sec
(4) 32 sec

A cloth merchant on selling 33 metre
of cloth obtains a profit equal to the
selling price of 11 metre of cloth,
The profit percentage is :

() 11% (2) 22%

(3) 50% (4) 40%

If 4 men or 6 women can do a piece
of work in 12 days working 7 hours
a day. How many days will it take tg
complete a work twice as large with

10 men and 3 women working

together 8 hours a day ?

(1) 6 (2) 7

(3) 8 (4) 9

It —Jf . then the value of
| +4/2

P +2x+3 is

(1) 0 (2) 1

(3) 4 (4) 2
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(1) 300 &h°  (2) 600 2"
| (3) 780 &R’ (3) 900 A’
8. D Mimwm AR aw By A

ey # o fem

[ i&aagmaz;

d% ﬁﬁn'aﬁrna % Pyt

% 7 s

aigm:is@r ﬂﬂ

(1)3:5

(3)4:7 4;33

70. A7 F& “9e T=H B AT 3 oy

H W R AR W s g
Bl"m AR 5 mor aafm & 7

(1) =r=n (2) &
(3) A (4) Toq W

71. ™9 2 § e dEn a9 Fitw
135, 226, 353, 552, 739

(1) 353 (2) 226
(3) 552 (4) 739
" Level-2/201

The perimeter of a rhombus is
100 em and one of its diagonal is 40
c¢cm. Then its area is -

) 300em®  (2) 600 cm’

780 cem’  (4) 900 cm’

alloys are both made up of
r and tin. The ratio of copper
in in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio

should 1wn Hoys be mixed. to
a loy such that the ratio
inbe3:87
) 34 (2) 4:9
(3) 4:7 4) 3:8

70.

A said "that boy is the grandson of
my mother's husband. 1 have no

brother or sister." How is the boy
related to A ?

(1) Uncle
(3) Nephew

(2) Son
(4) Cousin

71. Tind the wronmg number in the

following series :

135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 (4) 739



A

ik [16]
b v mﬂ bl oo 1 2T @ 72. The differcnce between  simpj,
b ot g & interest and the compound i"l‘"'est y
q ot BN . compounded annually at the rate of
12% per annum on ¥ 5,000 for tw,,

years will be :

(1) ¥ 72 (2) T84 (1) T72 (2) X 84
(9)=3190 (4) % 36 (3) T 96 (4) T 36

73. mﬁ# F AT 520 ¥ g 3 @ 73. The sum of two numbers is 520, p
E@ q9&7 ﬁ 4% FH T ﬁq«r o the bigger numbﬂ]’ is decreased b}u
g Eﬂé’f fﬁ 12% 31 fRegr o, 4% and the smaller number jg
M §&AT 9T ghft, § g9 @ increased by 12%, then the obtaineg
BYE! e & numbers are equal, then smallg

number is :

(1) 210 (2) 240 (1) 210 (2) 240
(3) 270 (4) 300 (3) 270 (4) 300

Find the wrong term of the following

series

G4T. JOR, M20P, P41N, S90L
(1) JOR (2) M20P
(3) P4IN (4) S90L

(3) P4IN (4) S90L

I5. UFH g9 Ff ; ' 5., thhey sumi ol length. breadth and
AT 19 depth of @ cuboid 1s 1Y cm and its
Aot 1 A1 pringipal ‘diagonal 1s 5JS em. then
EEE’;iq CEEUR Its surface area 1s :

(1) 361 8" (2) 286 &t | (1) 361 em’  (2) 286 cm’
(3) 236 991" (4) 340 9t || (3) 236 cm’ (4) 340 ¢cm’

6. A OF I 8 B e F e | 76. I" a person walks 8 km towards

gl T et 8 fedT ST %, g | South then turns right and walks
qrdt ST qg6Y 10 T Faan %, ar | 8 km, again turns left and walks

de ?_I,'GGTIT'ﬁ Fu"l_-g’ d P R & 7 10 km. In which direction is he from

G4T, JOR, M20P, PAIN. $90L
(1) JOR (2) M20P

starting point

’

(1) East-South  (2) North-l-ast

|

(1) W-afaer (2) Swe-md
(3) IAT-gieror (4) Ef&or-gfsey :l (3) North-South (4) South-West

Level-2/201



79, g’ W = 23, STRONG =
WEAK I7&ET % ¢
(1) 40 (2) 41
(3) 43 (4) 44
80. 7f Sa+——5 H'\ 9a° +
e B
(1) él {"‘} —
39
(3) — 4) —
S 5

mm@@mgwm
‘FeHA| [EE A deaq 4
Hﬁaﬁ’ﬁﬂﬁl%

(1) 11,000 & (2) 21,000 &1
(3) 31,000 W (4) 51,000 TR

Level-2/201

ﬂ)iﬁ**‘”’*‘" ,._.;-___
18, hmmahwﬂmf- '
and then he turmns to South and walk
I km. Again he tumns to East and
walks 2 km after that he tumns 10
North and walk 4 km, Now how far

is he from his starting point ?

(1) 5 km (2) 6 km
(3) 3 km (4) 4km
= 23, STRONG = 93. then
AK is equal 10 :
(2) 41
(4) 44
If Sa+—-=5 then the value of
29
1y = £
( ) ; (2) .
52 39
3} = 4) —
(3) S (4) 5

The amount which is given to the
sports woman on the occasion of
marriage  under . 'Mukhyamantri
Vivah Shagun Yojna':

(1) Rs. 11,000 (2) Rs. 21.000
(3) Rs.31.000 (4) Rs.51.000

P.T.O.




[A]
82. 1857 @ i~y g
o= 4 ¢ W rglenr @
(1) FIETE & (2
(3) F=I A §4; :ﬂ%@afng

(i) JEmE s 3 '
(i) ‘e s B G 3

(1) F70 F (i) T ¢

(2) 399 F99 (ii) 921 2

(3) 7 & () 7 & (i) @ 2

(4) 291 Fa9 Tl 2
86. ‘U ! .
s ﬁ?mﬁwﬁmﬂﬁw

(1) gofae H

(2) Sfarem

(3) &7 &

(4) FwrTE |

Level-2/201

The hero of 1857 Revﬂluﬁ@-ﬁ'-
Abdurrahman Khan was related .
(1) Bahadurgarh (2) Farrukhnagar'
(3) Jhajjar © (4) Yamunanag,

|d medals were wop

How many g0
'36th Naﬁﬁnﬂi

Haryana state in the

Junior  Athletics (’.3l‘lE?u‘rq:d«::.nship1
which was held in February, 202] o !
(1) 13 (2) 18
(3) 21 (4) 24

Who among the following wag g
longest serving Governor of Haryang

(1) B. N. Chakraborty

(2) A.R. Kidwai

(3) Jagannath Pahadia

(4) Kaptan Singh Solanki

Read the following statements abgy

Haryana Sahitya Academy :

(1) The Chief Minister serves as the

President of the academy

(i) 'Harigandha' is the Magazine of
the'academy.

Choose the correct codce

(1) Only statement (1) 1S correct

(2) “E'II}- statement (1) 1s cormect

(3) Neither (1) nor (1) 1s correct

['-1} H'l.’f'[h [Ifh,- statements are cormrect

".‘.u'hcn; the 'Panchwat’ pilgrimage
site 1s located 1in Harvana
(1) In Palwal

(2) In Ambala

(3) In Hathus

{4) In Ballabi



() T T e
(i) TN 99 G AR — Ferw
(iii) B a7 ST ST — oo

(1) FA9 (i) 2) (i) 3G
(3) (1) M Qi) - (4) Fa (i

&Wﬂﬁgﬁhﬁﬂﬁn'

go. Which of the fallowing palffi’““"
is/are true ?

(i) State Animal — B]ack buck
(ii) Saraswati Wild Life Sanctuary —
. Kaithal

iii) Nahar Wild Life Sanctuary -
Jhajjar

ose the correct code : '

nly (1) (2) (i) and (i)

and (i)  (4) Only (iii)

ch the following :

Nnme Place
(A) ﬁ'{'ﬁi F @ Rang (i) Narnaul
(B) m

(©) a‘R T (iii). T
(D) @& & R . (iv) THINE
F‘:

@A) B © @O
(1) () i) Gv) ()
) i) Gv) ) (1)
(3) (iv) (i) (i) ()
(4) (i) (i) ()  (v)

Level-2/201

Spl.nlunl. useum (1) Gurugram

(C) Chor Gumbad (in) Yamunanagar

(D) Sohna Fort (iv) Pampat
Code :

(A) (B) (C)y (D)
(1 (1) () (v) ()
(2) (1)  (wv) (1) (n)
(3) (iv)  (nd) () ()
(4) (i) (u) (1) (1v)

P.T.0.




o J |
(1) TEfa= |

&

(2) ORI 1
(3) FEGA
o EHE mE 3
Hegepe 1 HeT A B
93. ‘SIS I=-FH W F& I W T
(D) T HA
(J) Ye-gar
(2) STAHET HIe
(2) TEI-ve
. (3) dfa =@
(3) HE-aqe
. (4) T HA
(4) T9e-HaT

Level-2/201 -



Q) o

(4) SR a

99. 0 ey & 3% @ = @ &
w72 ® 7

(1) s, R
(2) e, 37

(3) @fem, REET
(4) 9HY, A

Level-2/201

daa24d.....

Ea

(2) YEE FH FOTNE Wi
2l

(3) TEE #F ¥ NS wedl
TE I B

4) &M FE & A
qRaYg AR AeaaT Aoft & ¥

P.T.O.



(1) 9% ¥s% Wadz @ ¥

(2) WeYT HAHAYFH T T
(3) TAEETE ST TEEer

(4) 95 a9 T A7 @Y
Level-2/201

(4) &1 39 g A - AT-FHH
fagfr & geem



(@) s - (i) P

() drerer

&

(1)
2
3)

4)

Level-2/201

(=)

ii

v

i

=

v

(%) o (i) v T

(i) I T

(m) dmr (v Had
- a

v

iii

iii

iv

(1) rErd ofR oRsw o=y @ Rio

T F
(2) W 3 3, frog weht 8 B

(3) tem #0, T Fem Tew @
Tqh

(4) g5 & e fam 78 |




&g &
-

(1) BT - g1 - &z - sfas T o 41 A o
(Ej?ﬁ'ﬁ-Fﬁ'{E W-W “]H!‘QLE
(2) % T ¥
(3) Rer - Ay - T -
™ (3) %, T, €
(4) 74 - 94 - fg - A9 (4)%, 9

Level-2/201



mgﬁﬁﬁlﬁﬁﬁ%%ﬂm%iﬁﬁw | s B

(1) Sm=aer FA

(2) g

(3) o= FReie

(4) =g 2 e |

120. = mﬁ%ﬁméa wﬁrﬁ%%
TEH & BE WEAT H
— & B B
2 e s (3) aTeifas APNT AW B A T
Zerar & ¥
(3) AT 7
| (4) @G el o fadw oraERt
(4) %% R

Level-2/201 2. T.0;




125. ‘G &9 F2, A T G

(4) Fax AT

Level-2/201

3) @ R I g g

Fed @@ T TR §&d I

wesT ggHl 4

war fere-fasmg &€

a aﬂi F g, A A
Fl = |

g B A W A", GO S

B HE

|

= e I = -"j e -
A ey g U

#

R i T et i v L



(4) Tw=i

() W iyt g
RS AL B T

T A (iv) afy-Ry-ar-fa ww
t o A v

= ‘Sl wg 99§ gger 7

(1) 39, gogoda
(2) HeMHHE, THS
(3) 3R, T
(4) 39T, FATTA

Level-2/201

(3) iv i i1

(4) iii i v

131, F=fafad & & feg a= & %m
7@ 7

(1) = (2) i

(3) TerE (4) gHE

P.T-n-



¢ Al | QW A, T oAt s

1’

T R § 8% R

(1) 3@ (2) e

(3) SeeArerr (4) dsry
Level-2/201




(4) TR R, amh R
wIEg S @ Rafm

“ - add

(2) wariERE fig
(3) FFT A
(4) FETE ST
143. fr=fefaa & & fFm o= § <2 mem
7t 7
(1) wfE=y (2) qiff
(3) anfdrer (4) aftar

Level-2/201

14}%mﬂmmﬂm-w&l‘l

5 % # P g B 7
FHUY THH

AT 9919

(3) eI T

8247

146. ‘i AR PfE B 3 @ ¥

(1) HrEware agad
(2) My Rie Reer
(3) gumrgATdl dem
(4) gaHT Bt Frer

P.T.O.



(1) T Fert g8 o

(2) ST Fer &
(3) R 9 3 R

CRALRR G

~+addazyT
(1) s | a
(2) ayewTTET
(i)aﬁ@ﬁ‘r
(4) Yot

Level-2/201





